Question Paper Name :
Subject Name :
Creation Date :

National Testing Agency

M Ed Hin 25th June 2023 Shift 2
M Ed Hin
2023-06-25 18:05:11

Duration : 120
Total Marks : 400
Display Marks: Yes

M Ed
Group Number : 1
Group Id : 686340387
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Part A
Section Id : 686340769
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401286
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634039094 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634039095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A @1 faeiieet o fesaet I e € 2
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Options :

686340154401. 1
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686340154403. 3
686340154404. 4
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Question Number : 2 Question Id : 68634039096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, 7119 & @FT & oy

Options :

686340154405. 1
686340154406. 2
686340154407. 3
686340154408. 4

Question Number : 3 Question Id : 68634039097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340154409. 1

686340154410. 2

686340154411. 3
686340154412. 4

Question Number : 4 Question Id : 68634039098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154413. 1
686340154414. 2
686340154415. 3
686340154416. 4

Question Number : 5 Question Id : 68634039099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154417. 1
686340154418. 2
686340154419. 3
686340154420. 4

Question Id : 68634039094 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634039095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154401. 1

686340154402. 2

686340154403. 3
686340154404. 4
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Question Number : 2 Question Id : 68634039096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154405. 1
686340154400. 2
686340154407. 3
686340154408. 4

Question Number : 3 Question Id : 68634039097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. 7T I EY
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4, T - e
Options :
686340154409. 1
686340154410. 2

686340154411. 3
686340154412. 4

Question Number : 4 Question Id : 68634039098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340154413. 1
686340154414. 2
686340154415. 3
686340154416. 4

Question Number : 5 Question Id : 68634039099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

686340154417. 1
686340154418. 2
686340154419. 3
686340154420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401287
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Uiel €l
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Options :

686340154421. 1

686340154422. 2

686340154423. 3
686340154424. 4

Question Number : 6 Question Id : 68634039100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154421. 1
686340154422. 2
686340154423. 3
686340154424. 4

Question Number : 7 Question Id : 68634039101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 99 + forgor
2. TET + gy

3. i + Yo7
4. FH + AT

Options :

686340154425. 1
686340154426. 2
686340154427. 3
686340154428. 4

Question Number : 7 Question Id : 68634039101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 99 + forgor
2. TET + gy

3. i + Yo7
4. FH + AT

Options :

686340154425. 1
686340154426. 2
686340154427. 3
686340154428. 4

Question Number : 8 Question Id : 68634039102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I T T AP IR BT R TR YY1 F PR 22
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Options :

686340154429. 1
686340154430. 2
686340154431. 3
686340154432. 4

Question Number : 8 Question Id : 68634039102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3TUY 3PN
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Options :
686340154429. 1
686340154430. 2

686340154431. 3
686340154432. 4

Question Number : 9 Question Id : 68634039103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154433. 1
686340154434. 2
686340154435. 3
686340154436. 4
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Question Number : 9 Question Id : 68634039103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340154433. 1
686340154434. 2
686340154435. 3
686340154436. 4

Question Number : 10 Question Id : 68634039104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154437. 1
686340154438. 2
686340154439. 3
686340154440. 4

Question Number : 10 Question Id : 68634039104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 95
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4. SiA-2rd

Options :

686340154437. 1
686340154438. 2
686340154439. 3
686340154440. 4

Question Number : 11 Question Id : 68634039105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154441. 1
686340154442. 2
686340154443. 3
686340154444. 4

Question Number : 11 Question Id : 68634039105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154441. 1
686340154442, 2

686340154443. 3
686340154444. 4

Question Number : 12 Question Id : 68634039106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154445. 1
686340154446. 2
686340154447. 3
686340154448. 4

Question Number : 12 Question Id : 68634039106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154445, 1
686340154446. 2

686340154447. 3
686340154448. 4

Question Number : 13 Question Id : 68634039107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154449. 1
686340154450. 2
686340154451. 3
686340154452. 4

Question Number : 13 Question Id : 68634039107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154449. 1
686340154450. 2
686340154451. 3
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Question Number : 14 Question Id : 68634039108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154453. 1
686340154454. 2
686340154455. 3
686340154456. 4

Question Number : 14 Question Id : 68634039108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154453. 1
686340154454. 2
686340154455. 3
686340154456. 4

Question Number : 15 Question Id : 68634039109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154457. 1
686340154458. 2
686340154459. 3
686340154460. 4

Question Number : 15 Question Id : 68634039109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154457. 1
686340154458. 2
686340154459. 3
686340154460. 4

Question Number : 16 Question Id : 68634039110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Uidd I 40 TSiBal 3, TP A S04 W &I Y- ardl 3R 5 RIH 28 YR WHIdRd [l e uled
H 39S 91l 3R 10 Tsiegi 35| afd . gee™ & 9o fRufa 9 4 W o df, a1 gepr ot ol
AR UfR & ol g et R g

1. 18

2.20
3. 9%
4.24

Options :

686340154461. 1
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686340154464. 4

Question Number : 16 Question Id : 68634039110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154461. 1
686340154462. 2
686340154463. 3
686340154464. 4

Question Number : 17 Question Id : 68634039111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe food FfZa &1s . 15780 @1 EGKPT @l oo 8, 3fR 2436 1 ALUR foraT Ol 8 a1 24539 @1 541
$is H og1 forar S 2

1. ALGTU

-2

.ALEUT
3. ALGUT
4. ALGRT

Options :

686340154465. 1
686340154466. 2
686340154467. 3
686340154468. 4

Question Number : 17 Question Id : 68634039111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154465. 1
686340154466. 2

686340154467. 3
686340154468. 4

Question Number : 18 Question Id : 68634039112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154469. 1
686340154470. 2
686340154471. 3
686340154472. 4



Question Number : 18 Question Id : 68634039112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154469. 1
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686340154471. 3
686340154472. 4

Question Number : 19 Question Id : 68634039113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340154473. 1
686340154474. 2
686340154475. 3
686340154476. 4

Question Number : 19 Question Id : 68634039113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154473. 1
686340154474. 2
686340154475. 3
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Question Number : 20 Question Id : 68634039114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634039114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 68634039115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154481. 1
686340154482. 2

686340154483. 3
686340154484. 4

| B

Question Number : 21 Question Id : 68634039115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Sfau™ & 59 s § 4arad 3ol B 1 & WG © 2

1, 3%54 36

TS5 39
3. 354 40
4. 3T=IG 48

Options :

686340154481. 1

686340154482. 2

686340154483. 3
686340154484. 4

| )

Question Number : 22 Question Id : 68634039116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A My Truth _ [rrEeE s
B. |The Broken Wings I [Sfer st
C. My Experiments with Truth] 111, W-_-ﬂ-_ﬂﬁlﬁ
D. [Exam Warriors IV. [F35 Hia]
FrafciRad fasedl & O 981 3R &1 994 S |

1. A-IV, B-III. C-I1. D-II

[ ]

CA-IIL B-IL C-1L D-IV
3. A-IL B-IIL C-1. D-IV
4. A-IT. B-IIIL. C-IV. D-I

Options :

686340154485. 1
686340154486. 2
686340154487. 3
686340154488. 4

Question Number : 22 Question Id : 68634039116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(&I ST ATH) @'\@?ﬁ DT )

A My Truth . [FrEeE e

B. |[The Broken Wings 1L [2fcar wmish

C. My Experiments with Truth| III. [G3I1 9 g

D. [Exam Warriors IV. [935 Hid
fFreferad faeedi & 8 91 IR &1 999 I ;

1. A-IV, B-III. C-I1. D-II

[ ]

CA-IIL B-IL C-1L D-IV
3. A-IL B-IIIL C-1. D-IV
4. A-IT. B-IIIL. C-IV. D-I

Options :

686340154485. 1

686340154486. 2
686340154487. 3



686340154488. 4

Question Number : 23 Question Id : 68634039117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URMETS Gl | W0 Siiad 9Tl ggel HRdg Aea dE 0

1. 4.2t 3
2. TR faeee
3. PUTald HY
4, W A

Options :

686340154489. 1

686340154490. 2

686340154491. 3
686340154492. 4

Question Number : 23 Question Id : 68634039117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URMETS Gl | W0 Siiad 9Tl ggel HRdE Aea dE G 0

1. 4.2t 3w
2. T2 faeme
3. HTSIT HY
4. War Ak

Options :

686340154489. 1

686340154490. 2

686340154491. 3
686340154492. 4

Question Number : 24 Question Id : 68634039118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154493. 1
686340154494. 2
686340154495. 3
686340154496. 4

Question Number : 24 Question Id : 68634039118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154493. 1
686340154494. 2
686340154495. 3
686340154496. 4

Question Number : 25 Question Id : 68634039119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154497. 1
686340154498. 2
686340154499. 3
686340154500. 4

Question Number : 25 Question Id : 68634039119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154497. 1
686340154498. 2
686340154499. 3
686340154500. 4

Part B: M Ed
Section Id : 686340770

Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401288
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The school of Philosophy which not in favor of giving instruction to children but they want that teacher should
be very cautious all the time and should behave with the children with love and sympathy.

1. Naturalism

| ]

. Pragmatism

. Humanism

[FN]

4. Existentialism

Options :

686340154501. 1
686340154502. 2
686340154503. 3
686340154504. 4

Question Number : 26 Question Id : 68634039120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR 1 98 (SRR Ol &= 1 ™ &1 o1 92 781 Sl sfew 98 1gdl o b (& gae
§ga diy T ayl faeniial & 9y WR iR geryld & 9y §dia L. deardl ¢ -

1. Ugpfiarg
2. Yhioag

3. OHadans
4, AT &Taang

Options :

686340154501. 1
686340154502. 2
686340154503. 3
686340154504. 4



Question Number : 27 Question Id : 68634039121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who belongs to this famous statement -

"Literacy 1s not the end of education nor education the beginning. It is only one of means whereby men and
women can be educated.”

1. Allaman Igbal

| )

. M. K. Gandhi
3. John Dewey

4. 1. I. Rousseau

Options :

686340154505. 1
686340154506. 2
686340154507. 3
686340154508. 4

Question Number : 27 Question Id : 68634039121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154505. 1
686340154506. 2

686340154507. 3
686340154508. 4

Laa

Question Number : 28 Question Id : 68634039122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This famous statement "The culture of a society means the total way of lift of the society" is given by

1. Maciver and Page

| §)

. Ogburn
3. E. B. Taylor

4 A K. C. Oftaway

Options :

686340154509. 1
686340154510. 2
686340154511. 3
686340154512. 4

Question Number : 28 Question Id : 68634039122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154509. 1
686340154510. 2
686340154511. 3
686340154512. 4

|

Laa
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Question Number : 29 Question Id : 68634039123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which governance system accept the following concept - "The teacher is taken to be a torch i whose light the
children reach their destination.”

1. Communism
2. Autocratic Governance
3. Democracy
4. Dictatorship
Options :
686340154513. 1
686340154514.2

686340154515. 3
686340154516. 4

Question Number : 29 Question Id : 68634039123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154513, 1
686340154514, 2

686340154515. 3
686340154516. 4

| B
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Question Number : 30 Question Id : 68634039124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the father of Sociology?

1. Max Weber

{ )

. Comte
3. Ogburn
4. Ottaway

Options :

686340154517. 1
686340154518. 2
686340154519. 3
686340154520. 4

Question Number : 30 Question Id : 68634039124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7S] (631 &1 5[4 el Sial 87
1. HeR da

2. DI

3. HfTEH

1. ST

Options :

686340154517. 1
686340154518. 2
686340154519. 3
686340154520. 4

)

Question Number : 31 Question Id : 68634039125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Whose statement this?

"Psychology 1s the positive science of conduct and behaviour."

1. Woodworth

| )

. Watson

3. McDougal

iy

. William Woundt



Options :

686340154521. 1
686340154522. 2
686340154523. 3
686340154524. 4

Question Number : 31 Question Id : 68634039125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154521. 1
686340154522. 2
686340154523. 3
686340154524. 4

Question Number : 32 Question Id : 68634039126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1 "Plateaus of learning"?

1. Fast learning situation

-

2. Slow learning situation
3. Zero or negative learning
4. Fall and rise in learning

Options :

686340154525. 1
686340154526. 2
686340154527. 3
686340154528. 4

Question Number : 32 Question Id : 68634039126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154525. 1
686340154526. 2
686340154527. 3
686340154528. 4

Question Number : 33 Question Id : 68634039127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which learning theory Reinforcement 1s most important?

1. Trial and Error theory

[ 5]

. Operant conditioning
3. Classical conditioning
4. Contiguous conditioning theory
Options :
686340154529. 1
686340154530. 2

686340154531. 3
686340154532. 4

Question Number : 33 Question Id : 68634039127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340154529. 1
686340154530. 2
686340154531. 3
686340154532. 4

Question Number : 34 Question Id : 68634039128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which learning theory accept that "The nature of learning is cognitive and enduring”"?

1. Insight theory of learning
2. Humanistic Learning
3. Information processing learning
4. Theory of imitation learming

Options :

686340154533. 1

686340154534.2

686340154535. 3
686340154536. 4

Question Number : 34 Question Id : 68634039128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154533 1
686340154534. 2
6863401545353
686340154536. 4

Question Number : 35 Question Id : 68634039129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Fluid erystalized intelligence theory" was developed by -

1. Gardner

| ]

. Guilford
3. Robert Stenberg

4 R.B. Cattel

Options :

686340154537. 1
686340154538. 2
686340154539. 3
686340154540. 4

Question Number : 35 Question Id : 68634039129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“RE GHiEd gfs Rigia o oo fog- fear un
1. TSR
2. frawig
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4 R 9§ Hed

Options :

686340154537. 1
686340154538. 2
686340154539. 3
686340154540. 4

Question Number : 36 Question Id : 68634039130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Factor theory of personality” was developed by -

1. Raymond Cattel

| o]

. Robert Stenberg
3.R. B. Cattel
4. Spearmen
Options :

686340154541. 1
686340154542. 2



686340154543. 3
686340154544. 4

Question Number : 36 Question Id : 68634039130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“ofddd PR (Fga B faer fog- fear ur

1. 38 B
2. §E WA
3. 3R, &l B
4, WREA

Options :

686340154541. 1

686340154542. 2

686340154543. 3
686340154544. 4

Question Number : 37 Question Id : 68634039131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said "Education is what emancipates”?

1. Acharya Shankar

-

2. Swami Vivekanand
3, Mahatma Gandhi
4. Rabindranath Tagore

Options :

686340154545. 1
686340154546. 2
686340154547. 3
686340154548. 4

Question Number : 37 Question Id : 68634039131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g gt wyA B, < ot & o sv= 3 gfa vem o (@ e fa qaan)
1. 3T s

. fgdP<

3. HETAT T

4. &Y SR

Options :

686340154545. 1
686340154546. 2
686340154547. 3
686340154548. 4

| )

Question Number : 38 Question Id : 68634039132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following modes of education "Adult people of the society arrange for education in order to
train the members of the next generation in that lifestyle and for the realization of their aspirations."

1. Informal Eduecation

| ]

. Formal Education

. Non-formal Education

[FN]

4. Adult Education
Options :
686340154549. 1
686340154550. 2

686340154551. 3
686340154552. 4

Question Number : 38 Question Id : 68634039132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154549. 1
686340154550. 2
686340154551. 3
686340154552. 4

Question Number : 39 Question Id : 68634039133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three main functions speculative. normative and critical are related to -

1. Social Philosophy

-

2. Educational Philosophy
3. Educational Psychology
4. Critical Psychology

Options :

686340154553. 1

686340154554. 2

686340154555. 3
686340154556. 4

Question Number : 39 Question Id : 68634039133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154553. 1
686340154554. 2
686340154555. 3
686340154556. 4

| B
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Question Number : 40 Question Id : 68634039134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which aspect of Philosophy determines the curriculum and teaching method education?

1. Metaphysics

| B

. Epistemology
3. Axiology
4. Theology

Options :

686340154557. 1
686340154558. 2
686340154559. 3
686340154560. 4

Question Number : 40 Question Id : 68634039134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154557 1

686340154558. 2

686340154559. 3
686340154560. 4

| ]

o

Question Number : 41 Question Id : 68634039135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the name of mechanistic Philosopher who explained mechanistic soul.

1. Darvin

2

. Spencer

3. Spmotja

ey

. Mc Dogal

Options :
686340154561. 1



686340154562. 2
686340154563. 3
686340154564. 4

Question Number : 41 Question Id : 68634039135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fer e daardl ST=ife = GAaTEl ST 1 SRl B 87
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T
3. TG
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Options :

686340154561. 1

686340154562. 2

686340154563. 3
686340154564. 4

[ ]

Question Number : 42 Question Id : 68634039136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The name of School of Philosophy which "Child Centered Education” is a important contribution of

1. Pragmatism

[ ]

. Idealism
3. Naturalism

4. Humanism

Options :

686340154565. 1
686340154566. 2
686340154567. 3
686340154568. 4

Question Number : 42 Question Id : 68634039136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154565. 1
686340154566. 2
686340154567. 3
686340154568. 4

Question Number : 43 Question Id : 68634039137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Philosophy considered sense organs based knowledge as untrue because the object and activities which
are percetved by sense organs are all subject to change and as such are false?

1. Pragmatism

2. Idealism

3. Humanism

4. Realism
Options :
686340154569. 1
686340154570. 2

686340154571. 3
686340154572. 4

Question Number : 43 Question Id : 68634039137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154569. 1
686340154570. 2
686340154571. 3
686340154572. 4

Question Number : 44 Question Id : 68634039138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A School of Philosophy believes that the human mind is inclined towards the Idealization of truth treacly and
goodness.

1. Naturalism

| ]

. Pragmatism

. Idealism

[FN]

4. Realism

Options :

686340154573. 1
686340154574. 2
686340154575. 3
686340154576. 4

Question Number : 44 Question Id : 68634039138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m?aﬁaﬁmﬁﬁﬂww%mﬁw%%mmmm@aﬁ?%(Hﬁﬁﬁﬂ%
SIePTd BIdl 82

1. Upfadig

. UAeHdIg
3. 3Mexiarg
4. gurdlarg

Options :

686340154573. 1
686340154574. 2
686340154575. 3
686340154576. 4

b2

Question Number : 45 Question Id : 68634039139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name of the Philosopher who said "We have killed the God."

1. Sartre

2

. Nietzsche

3. Kierkegaard

ey

. Jespers

Options :

686340154577. 1
686340154578. 2
686340154579. 3
686340154580. 4

Question Number : 45 Question Id : 68634039139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g g T U8 HYF 8. 59 SR &1 7R faan
1. 914
e
3. fedme
4. ooy
Options :
686340154577. 1
686340154578. 2

686340154579. 3
686340154580. 4

| )

Question Number : 46 Question Id : 68634039140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A famous method of teaching "Problem-Solving Method" was developed by
1. William James
2. Charles Sanders
3. Kilpatric
4. John Dewey

Options :
686340154581. 1



686340154582. 2
686340154583. 3
686340154584. 4

Question Number : 46 Question Id : 68634039140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UG S{eATO HUTTE! <TER] GHIYH HOTe & Uad o:
1. fafergm sivg
3. fafe®

4, S &dl

Options :

686340154581. 1
686340154582. 2
686340154583. 3
686340154584. 4

[ ]

Question Number : 47 Question Id : 68634039141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Aim of NEP 2020 to achieve 100% Gross Enrolment Ratio in Primary Education by

1.2035

[ ]

2040
3. 2030

4. 2032

Options :

686340154585. 1
686340154586. 2
686340154587. 3
686340154588. 4

Question Number : 47 Question Id : 68634039141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U5 2020 P1 oot o d wiufie Rem § 1000 Sd AMiS U S Uit & forg a9 g2

1.

| B

4.

Options

2035

. 2040

2030

2032

686340154585. 1
686340154586. 2
686340154587. 3
686340154588. 4

Question Number : 48 Question Id : 68634039142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Aim of NEP 2020 is to increase the Gross Enrolment Ratio in higher education including vocational
education from 26.30% to 50% by the year

1.

[ ]

4.

Options

6863401545809.
686340154590.
686340154591.
686340154592.

2030

2031

. 2040

2035

AW N —

Question Number : 48 Question Id : 68634039142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for oY @ TR YT 2020 1 AT G (L& Hiod SoR (&1 H Fod THie S91d &1 26.30%

TETHY 50% B BT 87

3

[

4.

Options

2030

. 2031

. 2040

2035



686340154589. 1
686340154590. 2
686340154591. 3
686340154592. 4

Question Number : 49 Question Id : 68634039143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According NEP 2020 which one among the following "One umbrella institution” within all four independent
vertical institution will be set up?

1. NHERC
2. HECI

3. GEC

4. HEGC

Options :

686340154593. 1
686340154594. 2
686340154595. 3
686340154596. 4

Question Number : 49 Question Id : 68634039143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Y1 2020 & HIR HEGRET ¥ ¥ (659 <UF sisial S & 3fid 94 9R] Wod SEwR ==
EARTI Bl ARTILel 1

1. QAU HRET
RIEERSE I

3 Gﬂé@[

4. Qﬂéﬁi T
Options :
686340154593. 1
686340154594. 2

686340154595. 3
686340154596. 4

[

Question Number : 50 Question Id : 68634039144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year NCERT launched the PIED (Project Integrated Education for Disabled Children) with the help
of UNICEF?

1. 1987

[ ]

. 1986
3. 1988

4. 1989

Options :

686340154597. 1
686340154598. 2
686340154599. 3
686340154600. 4

Question Number : 50 Question Id : 68634039144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁﬁ%ﬁ%ﬁmﬁﬁmﬁﬁ@wﬁ@%ﬁ%@%ﬁm)%

1. 1987
2. 1986
3. 1988
4, 1989
Options :
686340154597.
686340154598.

686340154599.
686340154600.

AW N~

Question Number : 51 Question Id : 68634039145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sarva Shiksha Abhiyan (SSA) was launched in vear

1.2005

| )

. 2001
3.2009

4. 2010

Options :



686340154601. 1
686340154602. 2
686340154603. 3
686340154604. 4

Question Number : 51 Question Id : 68634039145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T e sfimE oy o 9% g T

1. 2005

| B

. 2001
3. 2009
4. 2010

Options :

686340154601. 1
686340154602. 2
686340154603. 3
686340154604. 4

Question Number : 52 Question Id : 68634039146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To enhance the quality of Primary Education Blackboard Operation was launched in year -

1. 1986

[ ]

. 1887
3. 1988

4. 1982

Options :

686340154605.
686340154606.
686340154607.
686340154608.

AW N~

Question Number : 52 Question Id : 68634039146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1986
2. 1987
3.1988
4.1982

Options :

686340154605. 1

686340154606. 2

686340154607. 3
686340154608. 4

Question Number : 53 Question Id : 68634039147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article bound the Indian citizens to provide the opportunity of education to their word in age group - 6
to 14 years?

1. Article 51

[ ]

Article 52

CArticle 51A

LFN]

4. Asticle 53

Options :

686340154609. 1
686340154610. 2
686340154611. 3
686340154612. 4

Question Number : 53 Question Id : 68634039147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154609. 1
686340154610. 2
686340154611. 3
686340154612. 4

Question Number : 54 Question Id : 68634039148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which article is related to RTE Act 20097

1. Article 45

S

CArtiele 15
3. Article 21
4. Article 21A

Options :

686340154613. 1
686340154614. 2
686340154615. 3
686340154616. 4

Question Number : 54 Question Id : 68634039148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ sfT=va T HaY $RCls a9 2000 9 32

[ ]
[
Lk

Options :

686340154613. 1
686340154614. 2
686340154615. 3
686340154616. 4

Question Number : 55 Question Id : 68634039149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



District Primary Education Programme was launched in year

1.1592

2

. 1991
3.1995
4. 1993
Options :
686340154617. 1
686340154618. 2

686340154619. 3
686340154620. 4

Question Number : 55 Question Id : 68634039149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e wrufies e e &1 3Ry ay o g ATl

1. 1902

|

. 1901
3.1995
4, 1993
Options :
686340154617. 1
686340154618. 2

686340154619. 3
686340154620. 4

Question Number : 56 Question Id : 68634039150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who gave the concept of "Managing teaching learning" in the field of education?

1. Henderson

2.B. 5. Bloom

3. L. K. Davice

4. Morrison
Options :

686340154621. 1
686340154622. 2



686340154623. 3
686340154624. 4

Question Number : 56 Question Id : 68634039150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freiferiRaa & 9§ fooan fRien & &7 7 «3{eara= e & yae S 3{gURT UeH $i?
1. §8d
2 |l 9. =™
3. 318, &, ofag
4, HIRGT

Options :

686340154621. 1
686340154622. 2
686340154623. 3
686340154624. 4

Question Number : 57 Question Id : 68634039151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The concept "Constructive Educational Technology” is given by

1. Spearmen

-

2. Lumsdain
3.1 K. Davies
4. Silverman

Options :

686340154625. 1
686340154626. 2
686340154627. 3
686340154628. 4

Question Number : 57 Question Id : 68634039151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. T3RET
2. TS
3, 375, &, ofdg
4. Rreammq

Options :

686340154625. 1

686340154626. 2

686340154627. 3
686340154628. 4

Question Number : 58 Question Id : 68634039152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which learning theory is related to Linear Programme?

1. Classical Conditioning Theory

[ 5]

. Operant Conditioning Theory

LS

. Insight Theory
4. Trial and Error Theory
Options :
686340154629. 1
686340154630. 2

686340154631. 3
686340154632. 4

Question Number : 58 Question Id : 68634039152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrefaRaa 5 9 feg siftrm Risia o1 dey W@y T 9 82
1. R P Risid
fepamd srga Risia
3. 3rsiy Rl
4. - Rid

| E)

Options :



686340154629. 1
686340154630. 2
686340154631. 3
686340154632. 4

Question Number : 59 Question Id : 68634039153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who developed the Branching Programme?
1. Normal A. Crowder
2. Skinner
3. Pavlov

4. Thorndike

Options :

686340154633. 1
686340154634. 2
686340154635. 3
686340154636. 4

Question Number : 59 Question Id : 68634039153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QIREA UFITHH &1 faeTd fog- faarn
1. 9199 T Bes
2. =R
3. graaig
4. YHEH

Options :

686340154633. 1
686340154634. 2
686340154635. 3
686340154636. 4

Question Number : 60 Question Id : 68634039154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which is not the principle of Branching Programme?

1. Principle of Exposition

{ ]

. Principle Diagnosis

(%]

. Principle of Remindation
4. Principle of Controlling

Options :

686340154637. 1

686340154638. 2

686340154639. 3
686340154640. 4

Question Number : 60 Question Id : 68634039154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrfaREa o 9 & 2RE wEmE o1 e T8 62

 wfaure @1 fgid

2. e &1 R

 HTEE (Rergsem) &1 Risid

4. = &1 Rrgia
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Options :

686340154637. 1
686340154638. 2
686340154639. 3
686340154640. 4

Question Number : 61 Question Id : 68634039155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s not a teacher controlled strategy of teaching?
1. Laboratory Method
2. Lecture Method
3. Team Teaching Method

4. Chalk And Talk method

Options :
686340154641. 1



686340154642 2
686340154643. 3
686340154644. 4

Question Number : 61 Question Id : 68634039155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=feaa o 9 1 e ot g Hufa a8 8o
1, WGIT=ITC JoTei!
2. SR Wumel!
3. SO SEATY Yorei!
4, @fsar 3 araf yomett

Options :

686340154641. 1
686340154642 2
686340154643. 3
686340154644. 4

Question Number : 62 Question Id : 68634039156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s component of content related to Psychomotor aspect?

1. Concepts
2. Fact and Events
3. Verbal Concept
4. Creativity

Options :

686340154645. 1

686340154646. 2

686340154647. 3
686340154648. 4

Question Number : 62 Question Id : 68634039156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154645. 1

686340154646. 2

686340154647. 3
686340154648. 4

Question Number : 63 Question Id : 68634039157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What was the main objective of Adult Education?

1. Training of Adult People

[ 5]

. To eradicate Illiteracy

LS

. To modify the Adult behaviour
4. Training about Agriculture

Options :

686340154649. 1

686340154650. 2

686340154651. 3
686340154652. 4

Question Number : 63 Question Id : 68634039157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uig 2181 &1 30 Sexd T YR
1. e sfgadl &1 uiaifég o3
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| E)
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Options :



686340154649. 1
686340154650. 2
686340154651. 3
686340154652. 4

Question Number : 64 Question Id : 68634039158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is not Pillar of NEP 20207

1. Access

. Equity

b

L7

. Quality
4. Quantity

Options :

686340154653. 1
686340154654. 2
686340154655. 3
686340154656. 4

Question Number : 64 Question Id : 68634039158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fefeRad § @ $H-91 Tas 0l 2020 &1 WY T8l 82

A

1. 98

2. 918 dT

3. ToTa
4. T

Options :

686340154653. 1
686340154654. 2
686340154655. 3
686340154656. 4

Question Number : 65 Question Id : 68634039159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Boddh Education System a ritual take place after completion of Higher Education -

1. Pabbaja Sanskar

| )

. Upsampada Sanskar

%]

. Upnayan Sanskar

4. Sammner Sanskar

Options :

686340154657. 1
686340154658. 2
686340154659. 3
686340154660. 4

Question Number : 65 Question Id : 68634039159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i a1 Aot & S= 181 & 9T 8 R U S (GHG1S) dhar o §-

1. Gedlel] YIhR

2. 30U IR
3. IUTT GEHR
4, GTHAR TR

Options :

686340154657. 1
686340154658. 2
686340154659. 3
686340154660. 4

Question Number : 66 Question Id : 68634039160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : The period from infancy to adolescence is one of rapid growth and change.

Reason R : The pre-condition for all development 1s healthy physical growth of children.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

b2

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R 18 not correct.

4. A is not correct but B 13 correct.



Options :

686340154661. 1
686340154662. 2
686340154663. 3
686340154664. 4

Question Number : 66 Question Id : 68634039160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154661. 1
686340154662. 2
686340154663. 3
686340154664. 4
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Question Number : 67 Question Id : 68634039161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : Reward and Punishment, preaching, Imitation and assimilation are aceelerating method of
socialization.

Reason R : By Process of socialization a child will be an acceptable member of his society.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

| ]

. Both A and R are correct but R 13 NOT the correct explanation of A.

. A 1z correct but R 1s not correct.

[#¥]

4. A is not correct but R is correct.

Options :
686340154665. 1



686340154666. 2
686340154667. 3
686340154668. 4

Question Number : 67 Question Id : 68634039161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g1 U fGU U §. TP SIS (Assertion A) & U H [ARd § O THRI 3HP BRI (Reason R) P
=0,
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Options :

686340154665. 1
686340154666. 2
686340154667. 3
686340154668. 4
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Question Number : 68 Question Id : 68634039162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R :
Agsertion A : Educational Philosophy is an inter-discipline which inclined towards the discovery of
philosophical solutions of educational problems.

Reason R : Educational philosophy is the production of joint effort of Philosophy and education diseipline.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1 NOT the correct explanation of A.
3. A is correct but R 1s not correct.

4. A is not correct but R is correct.

Options :
686340154669. 1
686340154670. 2



686340154671. 3
686340154672. 4

Question Number : 68 Question Id : 68634039162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g U= [GU U §. UF SIS (Assertion A) & U H [ § @l §HRI 3HP BRI (Reason R)
g4,

WPy A - Ufeep 22 U SR-fawy & S Ui guwrsil & SifFe gy o |l $1 3R Ugwd g
TR R ; e <=H. <=1 3R e fovg & e 798 &1 3de 6|
SURIad Y & 3fald H, - fGu 7y fasedl § 9 968 3ugad SR &1 984 Bifu)
1. A R R &M 961 € 3R R, A B Hel oA §
A SRR &Ml U6l § difb= R, A @1 el oIS 6l &
AT T AGTIR TE R R
AT TR e APTR TG ©

Options :

686340154669. 1
686340154670. 2
686340154671. 3
686340154672. 4

[

LFN]

ey

Question Number : 69 Question Id : 68634039163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Agsertion A : People think Philosophy is related to the social and God and education is related to the human
behaviour, so they can not be interlaced.

Reason R : There is no need of Philosophy to determine the aim of human life because education is sufficient
to determine and achieve the human life aim.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.

-2

. Both A and R are correct but R 18 NOT the correct explanation of A.

Laa

. & 15 correct but R 1s not correct.

4. A is not correct but R is correct.

Options :

686340154673. 1
686340154674. 2
686340154675. 3



686340154676. 4

Question Number : 69 Question Id : 68634039163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

HUHYT A - T B I § 5 <29 o1 Iy e 3R SR T 81d1 § 3R e o1 96y g UagR o
eId1 &1 3T 38 uRERE &y 18l g T

BRI R ; {4 Sild= & 3584 & Hulfvd @ & forg 225 3 smawaear 7el & Hifd a-a siga &
TeRg Bl [Ryiid o34 & o fRen gata g1

SURIGd DY & il 1, A U Y faseeui O @ 9a9 S9ged SR &1 997 Sifo|
1. A R R &M 981 € AR R, A S ol R §

A SR R I el § AT R, A B TEl oo AT @

ATE T AfPTR TR

4, A 8! T8I ¢ AfPTR W1 &

Options :

686340154673 1
686340154674. 2
686340154675. 3
686340154676. 4

| )
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Question Number : 70 Question Id : 68634039164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : Naturalism accepts negative education.

Reason R : They were against positive education.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 18 the correct explanation of A.
2. Both A and R are true but R 1s NOT the correct explanation of A.
3. A s true but R 1s false.
4. A is false but R 1s true.
Options :
686340154677. 1
686340154678. 2

686340154679. 3
686340154680. 4



Question Number : 70 Question Id : 68634039164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 P fGU U §. U TS (Assertion A) & U H [AR3d § O §HI 3P PRI (Reason R)
=0,

HUFHYT A UHaaIE THRIAS 181 & WPR Bl o

BRI R : 9, ORI (241 P fao U]

SIRIGd DU & 1l . i fau U fasedi § 9 Ta9 SUged 97 o1 997 HiuU|
1. A 3R R &HI 98l € SR R, A P Hel o1 §

A R R M 981 8 Afb R, A B el IR 81 ©

AT AT R TR SR

AT T g APTR TG ®

Options :

686340154677. 1
686340154678. 2
686340154679. 3
686340154680. 4
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Question Number : 71 Question Id : 68634039165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asggertion A : At last all Philosopher becomes educationist and educationist become Philosopher.

Reason R : Philosophy is the theoretical aspect of education and education is the dynamic side of Philosophy.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R 1s not correct.
4. A 15 not correct but R is correct.
Options :
686340154681. 1
686340154682. 2

686340154683. 3
686340154684. 4

Question Number : 71 Question Id : 68634039165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

- g1 U fGU U §. TP SIS (Assertion A) & U H [ARd § O THRI 3HP BRI (Reason R) P
=0,

iy A : 3fd o 9l e, e 89 9 8 SR e ansife a9 & &)
PRUI R : G211, 14 ®1 Sifcrs var g 3R e, g2 o1 7ifoeiicr vai €|
SWRIGd DU & 1cile §, A iU U fas el & 9 9a9 SUged Gk &1 98- S|

1. A SR R & 9l € SR R. A 1 Hel R &
A SR R &M U8 8 Afb R, A B el IR 81 &
AT AT R TG R R
ATEI T g UPTR WET §

Options :

686340154681. 1
686340154682. 2
686340154683. 3
686340154684. 4
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sy

Question Number : 72 Question Id : 68634039166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Aggertion A : Pragmatists do not believe in ultimate reality.

Reason R : They believe that everything is in changing process and ultimate reality is in making process.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2

. Both A and R are correct but R 15 NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4, A is not correct but B is correct.

Options :

686340154685. 1
686340154686. 2
686340154687. 3
686340154688. 4

Question Number : 72 Question Id : 68634039166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

HIYPUA A - FIERATS!. ==Y guriar I fayrg 78 7@ d 8
HRUI R : 391 a9 3 & Ude axq ulad &1 ufcear § § oIk =Ry gurdfar Fofu & ufesar d g
SRl Y & 3f1alld H, i fGu 7y fasedl § 9 9ad Sugad SR &1 994 S
1. A R R &M 981 € AR R, A S ol R §
A SR R I el § AT R, A B TEl oo AT @
AT T AfFTR TSR
AT TSI e APTR TG ©

Options :

686340154685. 1
686340154686. 2
686340154687. 3
686340154688. 4
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Question Number : 73 Question Id : 68634039167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the meaning of Psychology in chronological order -

. Science of soul

. Science of mind

. Science of Consiousness
. Science of behaviour

o B B -

Choose the correct answer from the option given below :

1.B.C.A. D
2A.B.C.D
35, C DA
4.D.B.C.A

Options :

686340154689. 1

686340154690. 2

686340154691. 3
686340154692. 4

Question Number : 73 Question Id : 68634039167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e & 3 1 BTadd & AR Hafyd B -

A 311 & fagiH
B. T &1 fa31

C. a1 & fag=
D. TdeR @1 [a9H

At feu U fomedl | 9 Tt Itk &1 904 Sifol|

1B, EAD

2.A.B.C.D
3.B.C.D.A
4.D.B.C.A

Options :

686340154689. 1
686340154690. 2
686340154691. 3
686340154692. 4

Question Number : 74 Question Id : 68634039168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following operations of mental functions from first to last.

A. Convergent thinking
B. Memory

C. Divergent thinking
D. Evaluation

E. Cognition

Choose the correct answer from the option given below :

1B BLAC.D

| ]

.A.B.C.D.E
3.E.B.C.D.A
4. B.C.D.A.E

Options :

686340154693. 1
686340154694. 2
686340154695. 3
686340154696. 4



Question Number : 74 Question Id : 68634039168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OHE wad & REfafad Sieansd &1 uyg 9 3ifdg ot 3k ogalyg &4

A R Rida
B. IR0 R1fad
C. ARt A

D. Held-
E. U3
i< fau T faedl § © 9el IR &1 99 Hifeu|

1.E.B.A,C.D

2. A B CIB.E

I

3.EB.B CDA
4.B.C.D.A.E

Options :

686340154693. 1
686340154694. 2
686340154695. 3
686340154696. 4

Question Number : 75 Question Id : 68634039169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following learning experience in cone of experience.

A Visual Symbols
B. Verbal Symbol
C. Field Trips

D. Demonstration
E. Exhibits

Choose the correct answer from the option given below :

1.LABCD.E

| ]

.D.C.E.A.B
B G RA
4. A.C.B.D.E

Options :

686340154697. 1

686340154698. 2
686340154699. 3



686340154700. 4

Question Number : 75 Question Id : 68634039169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrefeRaa sftrm sryal @1 3y - Y9 ¥ omafyd &3 -

A T Ul

B. Ylsd® Udid

C. &FYH (bl [eU)
D. fAe=iA

E. We3H

i QU T fomedl © 9 el 3T 1 994 DU |

1.A.B.C.D.E

| ]

DB AB

i

BB DA
4 A C.B.D.E

Options :

686340154697. 1
686340154698. 2
686340154699. 3
686340154700. 4

Question Number : 76 Question Id : 68634039170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange in chronological order :

A. Wood despatch
B. Macaulay Minute
C. Hunter Commission
D. Curzon Education Policy
E. Hartog Committee
Choose the correct answer from the option given below :
1.A,B.C.D.E
2B CHRA
3.C.D,A.E.B
4.B.A.C.D.E

Options :



686340154701. 1
686340154702. 2
686340154703. 3
686340154704. 4

Question Number : 76 Question Id : 68634039170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIAHH & HTHR HaYd B |

A gs faag
B.%;ﬁﬁrﬁ'c’
C. B HHIYH
D. ToiTer4T Ifafg
E. geln widt
i fau U fawedl O 9 9E! SR &1 99 i |

1.A.B.C.D.E

| ]

B TEEA
J.CCD.A.E.B
4 B.A.C.D.E

Options :

686340154701. 1
686340154702. 2
686340154703. 3
686340154704. 4

Question Number : 77 Question Id : 68634039171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in chronological order :

A. Acharya Narendra Deo Committee
B. National Education Commission
C. University Education Commission
D. Sadler Commission

E. Gokhale Bill

Choose the correct answer from the option given below :

1.C.B.A.E.D
2.A.B,C.D,E
3 ED.E.BA
4.D.E.C.B.A

Options :

686340154705. 1

686340154706. 2

686340154707. 3
686340154708. 4

Question Number : 77 Question Id : 68634039171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIEHY B THR TaRYT DY -

A. S %% &d 9t
B. AP TRua

c. fayfderery Ruam smar
D. YSTN HIT

E. TiRad fatge (faa)

i fau v faoredi § 1 TE! 3k &1 99 S|
1.C.B.A.E.D

2. AB.CD.E

I

3.E.D.C.B.A
4.D.E.C.B.A

Options :

686340154705. 1
6863401547006. 2
686340154707. 3
686340154708. 4



Question Number : 78 Question Id : 68634039172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange The following mventions in chronological order -

A. Telegraph

B. Radio

C. Soundless Movie
D. T. V. Broacasting
E. Satellite

Choose the correct answer from the option given below :
1.B.D.C.E.A
2.A.B.C.D.E
3.JAOB.D.E.C
4. CCAB.D.E

Options :

686340154709. 1
686340154710. 2
686340154711. 3
686340154712. 4

Question Number : 78 Question Id : 68634039172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ e

HfeREa SfdspRi &1 ey & HT9R Hald B |

A. oS
B. &l

C. gob JaiteA
D. Eldi JaRur

E. Ucdrse
i fau e faedl O © Ug! SR &1 99 Sty

1B, 13 EH A

AB.CDBDE

| ]

3.A.B,D,E.C
4.C,A.B.D.E

Options :

686340154709. 1
686340154710. 2
686340154711. 3



686340154712. 4

Question Number : 79 Question Id : 68634039173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following type of learning in Gane's Hierarchy of learning towards increasing complaxity.

A. Signal Learning

B. Chain Learning

C. Principle Learning

D. Concept Learning

E. Multiple Discrimination Learning

Choose the correct answer from the option given below :

1.LABEDE

| ]

BB NE
3.EC.B.D.A
4.C.D.B.A.E

Options :

686340154713. 1

686340154714. 2

686340154715. 3
686340154716. 4

Question Number : 79 Question Id : 68634039173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & HIETE O O sferm & FEfaiad ueR of sedl sfidddr & o § suaityd &1
A T4 afferg
B. el ey
C. 9 SfferT

D. HGYROT SALTH
E. g fave iy

i< faUu T faedi § ¥ Hg! 37k &1 99 Hifoid|
1.LA,B.E.D.C
2.A.B.C.D.E
3.E.C.B.D.A
4.C.D.B.A.E

Options :



686340154713. 1
686340154714. 2
686340154715. 3
686340154716. 4

Question Number : 80 Question Id : 68634039174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Voice mail digitizes outgoing voice messages and store them 1in the recipient voice mail box in
digitized form.

Statement IT : Telnet is a programme that allows one to log into computers on the internet and use online
database.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statemient IT are incorrect.
3. Statement [ is correct but Statement II is incorrect.

4. Statement [ is incorrect but Statement II is correct.

Options :

686340154717. 1
686340154718. 2
686340154719. 3
686340154720. 4

Question Number : 80 Question Id : 68634039174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERAR: G Rl o

HY 1 : T U0 18R S aTd (SHT3STE) ISR 1 SIS 1H0 Pl § 3R 3T 3o ied 4 § RiGHie
09 7 9199 H§ TR PRl 2

BHYA L : Co-Ie U WA & [y S1gex] § sed-e UR arl g4 (a1 Sl § SR STHaIgd Sclay ol
qaT f&ar S g |
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HYFT AR GHI T8l §
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4. YA 1A §, AAfeh Y 11 951 8
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| ]
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Options :



686340154717. 1
686340154718. 2
686340154719. 3
686340154720. 4

Question Number : 81 Question Id : 68634039175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Society and education are interdependet.

Statement II ;: Education of a society depends on its geographical. social cultural religious and economic
conditions.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

| B

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4. Statement [ is incorrect but Statement II is correct,

Options :

686340154721. 1
686340154722. 2
686340154723. 3
686340154724. 4

Question Number : 81 Question Id : 68634039175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e ar YA feu e B
FUA 1 T AR e sfEa B
B 11 : FHTS I (Y81 39T Ui, s, gipiae. aiffe ¢k anfie f@ifadl w ik sdi g
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Options :

686340154721. 1
686340154722. 2
686340154723. 3



686340154724. 4

Question Number : 82 Question Id : 68634039176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I : In material culture included all objects made by human such as pottery clothes. ornaments.
houses. machines. tools. weapons. means of transport and means of communication.

Statement IT : Non material culture included conceptual achievement. such as lifestyle. eating manner
behavioral norms. costumes, traditions, art, skill language literature religion. philosophy ideas belief and
values.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4, Statement I is incorrect but Statement II 1s correct.
Options :
686340154725. 1
686340154726. 2

686340154727. 3
686340154728. 4

Question Number : 82 Question Id : 68634039176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERAR: I BRI V=
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Options :
686340154725. 1
686340154726. 2



686340154727. 3
686340154728. 4

Question Number : 83 Question Id : 68634039177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : As a religion Jainism has two sects Digambara and Shvetambara.

Statement I : Digambara believe that a person desirous of Kaivalya (Emanecipation) should wear clothes and

they accept the basic teaching of Mahavir Swami.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect,
3. Statement I is correct but Statement I is incorrect.

4. Statement I is incorrect but Statement II 1s correct.

Options :

686340154729. 1
686340154730. 2
686340154731. 3
686340154732. 4

Question Number : 83 Question Id : 68634039177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & Py e MU B
BYA 1 Y8 & =Y H SyH J g1 Uy § - f377eR 3R JarsR|

T 11 ; farial @t fayr & o Soed (fd) W o3 & S99 ofda &1 a3 Ug-H 91fet 3R 3 HeTdR
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Options :

686340154729. 1
686340154730. 2
686340154731. 3
686340154732. 4



Question Number : 84 Question Id : 68634039178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The person who has studied educational philosophy can only answer the questions as to how
much and why all have to change. and how much and why have not to change.

Statement II : Education has to keep pace with scientific inventions and changes in social religious, political
and economic condition else we would not able to keep us occur in the time to come.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct.

-2

. Both Statement I and Statement II are incorrect.

Laa

. Statement I is correct but Statement II is incorrect.

4, Statement I is incorrect but Statement II is correct.

Options :

686340154733. 1
686340154734. 2
686340154735. 3
686340154736. 4

Question Number : 84 Question Id : 68634039178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FUA 11 ; 181 BT I MASHRI 3R Irarfores. uiiie. ToHifae aur sfie fRufoal & e ga
1T & 3F9UT 89 T SHaTe 979§ W & QRid e 8 gem 7t 6 9|

SWRIGd DU & 1l §, i fau U fasedi § 9 Fa9 39ged 37 o1 99 Hiuiu]
1. B 1 AR I GH 98l §

YA 1 3R 11 T T §
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Y 1710 8, AP FUT TR B
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Options :

686340154733. 1
686340154734. 2
686340154735. 3
686340154736. 4



Question Number : 85 Question Id : 68634039179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : The major important representation of ICT in education 1s the presentation and use of teaching
aids.

Statement - IT : NCERT New Delhi has taken up a major role in use of ICT in education.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement IT are false.
3. Statement I is true but Statement II is false.

4. Statement [ is false but Statement II is true.

Options :

686340154737. 1
686340154738. 2
686340154739. 3
686340154740. 4

Question Number : 85 Question Id : 68634039179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Py fRU MU E:
B 1 : e sgdiel (10T) &1 W Heayu! wfaf3iea. vegdiev sk Rigor geme amd g

BYA 11 ; TTEIS SHRCT (U1g Qféer SrHuM SR e oRyg) 75 fawed - Riar & sl & warr
55! forerl 3o B

IRIad YT & AaP §, - 12U 70 feedi § 9 9g! 393 &1 99 Shifou|
1. PYTI SR SH 9
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PYT I I . afed PUT 11 T ©

| )

Laa
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Options :

686340154737. 1
686340154738. 2
686340154739. 3
686340154740. 4



Question Number : 86 Question Id : 68634039180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : Unconditional Stimulus should be stronger than conditional stimulus. If conditional stimulus
will be stronger than unconditional stimulus then the animal not notice the unconditional stimulus.
Statement - II : If after conditioning not provide the unconditional stimulus after conditional stimulus then
conditional response will be indeed. This situation is called extinction.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement II are true.

| ]

. Both Statement I and Statement II are false.

Laa

. Statement I is true but Statement IT 1s false.

4, Statement I is false but Statement II is true.

Options :

686340154741. 1
686340154742. 2
686340154743. 3
686340154744. 4

Question Number : 86 Question Id : 68634039180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy Ry e:

DY 1 : HUTDIAdD Ie 9D, Whldd Fgus U e YHERel 51 91igu | afd Wipldd Igiu®.
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Options :

686340154741. 1
686340154742. 2
686340154743. 3
686340154744. 4



Question Number : 87 Question Id : 68634039181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the naturalistic philosopher name -

A. Darwin

B. Whitehead

C. Hunley

D. Herbert Spencer
E. Aristotle

Choose the correct answer from the option given below :
1. A B.C Only
2.B.C.D Only
3.A C.E Only

4. A C.D Only

Options :

686340154745. 1
686340154746. 2
686340154747. 3
686340154748. 4

Question Number : 87 Question Id : 68634039181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yfaard] areite &1 =g o -
A Bl
B.§l5CES
C. &Td
D. §dc W
E. 33&]
i< fU 7T faded § § el SR &1 99 Hifuil|
1.HAAA. B.C
2. %ad B.C,D
3. HAdd A, C.E

4. FIAA.C,D

Options :
686340154745. 1
686340154746. 2



686340154747. 3
686340154748. 4

Question Number : 88 Question Id : 68634039182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out Thorndike's main laws of learning

A, Law of Connections
B. Law of Exercise

C. Law of Effect

D. Law of Conditioning
E. Law of Readiness

Choose the correct answer from the option given below :

1. A.B. C Only

[

.A.B.C.D Only

L¥¥]

.B.C. E Only
4.B. C.D. E Ounly

Options :

686340154749. 1
686340154750. 2
686340154751. 3
686340154752. 4

Question Number : 88 Question Id : 68634039182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YFSIS® P HETH (Tha-) BT I & Fag gagu)
A Ty & Hag
B. 31T &1 g9
C. 941G &1 a9

D. 3P &1 g9
E. dRal @1 a9

i fau 7T fasedi & T el STk &1 994 Bifeiy|
1. PIAA.B.C

$AUA.B.C,D

3. %adB.C.E

4, 9dUB.C.D,E

-2



Options :

686340154749. 1
686340154750. 2
686340154751. 3
686340154752. 4

Question Number : 89 Question Id : 68634039183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the stages of learning on the basis of Thorndike's experiment with Cat ;

A. Block

B. Drive

C. Goal

D. Random Movement
E. Bond

Choose the correct answer from the option given below :
1.A.B.C. D only
2.B.C.D.E only
3.A.C.D.E only
4.A.B.D.E only

Options :

686340154753. 1
686340154754. 2
686340154755. 3
686340154756. 4

Question Number : 89 Question Id : 68634039183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UTHSIE® o e & 1Y WO F YR TR ARG (SiEH) & 90T & gk § garsu|

A ST

B. §lkd

C. &g

D. Ulefwsd Saa-
E. dls

i fau 7T fadedl & T el SR &1 99 Bifed|
1.PIAA.B.C.D
2. %ddB.C.D.E
3. PAd A, C.D.E
4. 9dU A, B.D,E

Options :

686340154753. 1
686340154754. 2
686340154755. 3
686340154756. 4

Question Number : 90 Question Id : 68634039184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out cognitive theories of learning :

A. Guthril's theory of contiguity
B. Tolman's theory of learning

C. Insight theory of learning

D. Hall's theory of reinforcement
E. Lewin's theory of filed learning

Choose the correct answer from the option given below :

1. A.B. Conly

[

.B.C.E only
3.B. C. D only
4. C.D. E only

Options :

686340154757. 1
686340154758. 2
686340154759. 3
686340154760. 4



Question Number : 90 Question Id : 68634039184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & I3FTES HEid gasU]|
A TS @1 el ot Risid
B. T84 &1 ey &1 Ui
c. e @1 3 fygha

D. B0 &I Waa- [aid
E. difa &7 & i &1 faid

i fau U fa@redl 5 O el 3Tk &1 9494 S|
1. 99U A, B.C
2. HAdB.C.E
3. $ddB.C.D
4.%dd C,D.E

Options :

686340154757. 1
686340154758. 2
686340154759. 3
686340154760. 4

Question Number : 91 Question Id : 68634039185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out three main types of learning

A Verbal Learning

B. Physical Learning

C. Moter Learning

D. Problem Solving Learning
E. Non-verbal Learning

Choose the correct answer from the option given below :
1.A. D.Bonly
2.A . C.Donly
3.A. B. Conly
4.B. C.D only
Options :

686340154761. 1
686340154762. 2



686340154763. 3
686340154764. 4

Question Number : 91 Question Id : 68634039185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST & ol 0% PR §diEy|

A, YT SETH

B. Bl HfeH

C. IR ATy

D. JHIT qTE Sy

E. 3f¥nfead e
i AU Y faoedl O O 9ad SUgad Gk &1 99 Piforg|
1.Pdd A, D. B
2. BAI A, C, D
3. Bad A, B, C
4. PdUB.C.D

Options :

686340154761. 1
686340154762 2
686340154763. 3
686340154764. 4

Question Number : 92 Question Id : 68634039186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the types of learning in Gane's Hierarchy of learning.

A. Concept learning

B. 5. R. learning

C. Verbal learning

D. Non-verbal learning
E. Reflective learning

Choose the correct answer from the option given below :

1.B,C.D. E only

[

.A.B. Conly
3.A.C,Donly

4. A, C.D.E only



Options :

686340154765. 1
686340154766. 2
686340154767. 3
686340154768. 4

Question Number : 92 Question Id : 68634039186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 & e FigH O ST & UHR gdieu|
A TopegHr ey
B. U, 3. HEH

C. s SHETH
D. 3¥fsgd ey

E. faqeigul st
1= fu e fasedl § 9 el Iugad 9Tk &1 90 S|
1. $da B.C.D.E
2. PAUA.B.C
3. Pad A, C.D
4. HATA.C.D.E

Options :

686340154765. 1
686340154766. 2
686340154767. 3
686340154768. 4

Question Number : 93 Question Id : 68634039187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out factors affecting learning process.

A Motivation

B. Fatigue

C. Environment

D. Learning method
E. Imitation

Choose the most appropriate answer from the option given below ;
1.B.C.D.E only
2.A.B.C.D.Eonly
3.,AC.D.E.B only
4.A.B.C.D only

Options :

686340154769. 1
686340154770. 2
686340154771. 3
686340154772. 4

Question Number : 93 Question Id : 68634039187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIETT uicha1 &) UHIldd - ad $RS Fd8U]

A, TR
B. UHH
C. aIaraRo

D. 3fer ggfd
E. 3P0

i fAU Y fasetl O © 9 SUgad 9Tk &1 99 Difru|
1.$dd B.C.D.E

2. AT A.B.C.D.E
3. P90 A, C.D.E.B

4. PAAA. B.C.D

Options :

686340154769. 1
686340154770. 2
686340154771. 3
686340154772. 4



Question Number : 94 Question Id : 68634039188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (School of Philosophy)) LIST II (Ukimate Reality)
A |Pragmatism I |God
B. [ldealism IT. [Matter
C. |Realism 1T |Nature
D. |[Naturalism IV, [No ultimate reality in making process

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIIL, D-IV

| B

CA-IL B-IV. C-1I1. D-I
3. A-IV. B-1, C-I1. D-T1T
4. A-I. B-IV, C-I1, D-IIT

Options :

686340154773. 1

686340154774. 2

686340154775. 3
686340154776. 4

Question Number : 94 Question Id : 68634039188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 & 91y g 11 &1 e Sifs
=1 &l 11

@) csiferm gurdam
A RBumFEErg | L ER
B. [sre=iarg 1. [gerd
C. [ayriarg 1L [Haefd
D. [Udidarg 1V, [FE10r & gfchan H @iy sifas gurdl el g

[

=i fau U fd@eql 5 O Ue! 31 &1 9494 S|

1. A-I. B-II. C-III. D-IV

[ ]

CA-ITL B-IV, C-IT0, D-1
3. A-IV. B-I1. C-I1. D-III
4. A-1. B-IV. C-IL. D-III

Options :
686340154773. 1



686340154774. 2
686340154775. 3
686340154776. 4

Question Number : 95 Question Id : 68634039189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

[LIST I (Name of Philosopher) LIST II (Teaching Method)
A |Plato I |Play way Method
B. |Aristotle II. |Dialectic Method
C. |Socrates 1T Inductive and Deductive Method)
D. [Froebal IV, |Question Ans. Method

Choose the correct answer from the options given below:

1. A-III. B-IL. C-IV. D-1

| B

. A-TL B-IIIL C-IV. D-I
3. A-L. B-II. C-III, D-IV
4. A-II. B-IIL, C-1. D-IV

Options :

686340154777. 1
686340154778. 2
686340154779. 3
686340154780. 4

Question Number : 95 Question Id : 68634039189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1% 1Y Gt 11 BT o Sl

T 1 T 1
@RI 1) e vz
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C. g 1L [STTHTHS 3R FHTTHS UG
D. [ihle IV. [JYR =id

+d fau U fasedl § 9 Tel 3R &1 994 S|

1. A-TIT. B-TL, C-IV. D-I
2. A-IL B-IIL C-1V. D-I
3. AL B-IL C-IIL D-IV
4. A-IL B-TIL. C-1. DIV

Options :

686340154777. 1

686340154778. 2

686340154779. 3
686340154780. 4

Question Number : 96 Question Id : 68634039190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (School of Psychology) LISTIT
A |Gestaltism I |William Wundt
B. |Behaviouralism II. PJohn Watson
C. [Functionalism III. [Wolfzang Kohler
D. [Structuralism IV, |William James

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIIL, D-IV

| )

. A-L B-III, C-IV, D-II
3. A-IL, B-III. C-IV. D-1
4. A-IIL. B-1II. C-IV. D-I

Options :

686340154781. 1
686340154782. 2
686340154783. 3
686340154784. 4



Question Number : 96 Question Id : 68634039190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl 1 & Y G 11 BT HeE Sife
Wrmﬁm%% I I

A. [FHY TPidarg L [SRmE T=e
B. [gagrac 1L [&9 aregH
C. [roraE I1L [ge 17 BIeR
D. [{¥gag V. [f[GTeTH o g

Hid feu 0 f[aoedl § O el 3Tk &1 944 S|

1. A-I. B-II. C-III. D-IV

| B

cA-L B-IILL C-IV. D-II
3. A-II. B-IIL. C-IV. D-1
4. A-IIL, B-II. C-IV. D-I

Options :

686340154781. 1
686340154782. 2
686340154783. 3
686340154784. 4

Question Number : 97 Question Id : 68634039191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Learning Theories)|LIST TI (Psychologist Name)
Hierarchy of Learning | I |Thordike
Conk of Expenience II. [Paviov

Conencftionism IIT. |Gane
Classical Conditioning | TV, [Edger Dale

=l il Il e

Choose the correct answer from the options given below:

1. A-I, B-1I. C-III, D-IV

| )

CA-IV. B-11L C-1IT, D-I
3. A-IIL B-IV. C-1. D-II
4. A-IV, B-I11. C-1, D-I1
Options :

686340154785. 1
686340154786. 2



686340154787. 3
686340154788. 4

Question Number : 97 Question Id : 68634039191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 % 91y G 11 BT e e

a1 g3 1
i & fag) |(@FEmiae o19m)
A rm @ anE | L pHeE®

B |3Hyd ¥ 1. [ggaia
C. [qarsae 1L =
D. [Fiig®d Hgad]| IV [T37R 54

- fau e fawet | 9 Wel SR @1 =997 Bifon|

1. A-I. B-IL. C-IIL. D-IV

[ ]

CA-TV, B-ILL C-II0. D-I
3. A-L B-IV. C-1, D-II
4. A-IV. B-1II. C-1. D-1I

Options :

686340154785. 1
686340154786. 2
686340154787. 3
686340154788. 4

Question Number : 98 Question Id : 68634039192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Psychologist Name)[LIST II (Experiment with Animal)
A |Thorndike I |Apes
B. |Paviov II. [Rats and Pigeon
C. |Bkinner 11 |Cart
D. |[Kohler IV, [Dog

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I. D-II
2. A-IV. B-III. C-II. D-1
3. A-I. B-IIL C-TV, D-III
4. A-IIL B-IV. C-I1, D-1

Options :

686340154789. 1

686340154790. 2

686340154791. 3
686340154792. 4

Question Number : 98 Question Id : 68634039192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT HeE Sife

T 1 T I
(FATETTE BT AW)|@THER faae gy v fen T
A SRS

A I [l Ew)

B. [qdcid 11 [98 3R BgaR

C. [Fpe 111 [feeed]

D. [@ieeR V. [

i< faU T fdedl § E 9el STk &1 9 Bt

1. A-ITT. B-IV. C-1. D-II
2. ATV, B-1IL C-I1. D-1
3. AL B-IIL C-IV. D-III
4. AL B-IV. C-11. D-1
Options :
686340154789. 1
686340154790. 2

686340154791. 3
686340154792. 4



Question Number : 99 Question Id : 68634039193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Stages of Cognitive Stages)|LIST II (Learning and Activity)
A |Sensory Motor Stage 1. |Logical Thinking
B. [Pre Operational Stage I1. |Part and Whole Concept
C. |Concrete Operation Stage 11 |Exploration Stage
D. [Formal Operation Stage IV, |[Reflexive Actions

Choose the correct answer from the options given below:

1. A-I. B-III. C-III, D-IV

| B

AL B-IV, C-11, D-1
3. A-IV. B-III. C-1. D-II
4. A-IV, B-11II, C-II. D-1

Options :

686340154793. 1
686340154794. 2
686340154795. 3
686340154796. 4

Question Number : 99 Question Id : 68634039193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & WY G 11 BT A Sife

a1 = 11

(HFTATHS T (3rfirma fR nfafafin

_ [Hae v o 1 [aifda Riaq

TrETE-gd =)0 1L [ 3R Ol Y]
o UTa 93 I1L. [idisf TRoT

_ |sio=nies vared =Ry v [ufdadi e

=i fau e famet | & 9el SR @1 =997 Difon |

1. A-I, B-III. C-III. D-IV

g|o|E|=

2. A-IIL B-IV. C-II. D-1
3. A-IV, B-111, C-1. D-II
4. A-IV. B-1II. C-I1. D-I

Options :



686340154793 1
686340154794. 2
686340154795. 3
686340154796. 4

Question Number : 100 Question Id : 68634039194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I (Theories of Intelligence)]LIST II (Psyvchologist Name)

A |Uni factor theory I. |Spearman

B. |Two factors theory II. [Thurston

C. |Group factor theorv III. [Howard Gardner
D. Multiple intelligence theory | IV [Binet

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| B

CA-IV. B-1, C-II, D-II
3. A-IV. B-1, C-I1. D-ITT
4. A-1. B-IV, C-I1, D-III

Options :

686340154797. 1
686340154798. 2
686340154799. 3
686340154800. 4

Question Number : 100 Question Id : 68634039194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-1IL. C-IIT. D-IV

o|o|w|;

2 A-IV. B-1. C-111, D-II
3. A-IV, B-1. C-11. D-III
4. A-I. B-IV. C-11. D-III

Options :

686340154797. 1
686340154798. 2
686340154799. 3
686340154800. 4



